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Question 1

Which of the following is not a vertex of the positive region bounded by the inequalities 2x+3y < 6, 5x+3y < 15and x,y 20 ?
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Question 2

The optimal solution of the LPP: Maximize z=x+y, subject to: x-y < 0, 3x-y 2-3 and x,y 20 is
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Question 3

A basic solution is called non-degenerate , if
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Question 4

A set of feasible solutions to a LPP is a
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Question 5

In the optimal simplex table, Zj - Cj = 0 value indicates
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Question 6

If, when we are using a Simplex table to solve a maximization problem, we find that the ratios for determining the key row are all negative, then we know that
the solution is
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Question 7

For a maximization problem using Simplex table, we know we have reached the optimal solution when the Zj - Cj row
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Question 8

In converting an equality constraint for use in a Simplex table, we must add
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Question 9

The following LPP is not in standard primal form : Maximize z = 2x + 9y, subject to : 3x + 5y = 3, 9x+5y < 8, X, y =0 . Which of the following changes would
make it a standard primal ?

RS ¢2.021.57.1C 2w 47 SBICH (73 : 5N 2 = 2x + 9y, 7S SATH : 3x + 5y = 3, 9x+5y < 8, x, y 2 0 . [NHAR® ARSI W& (PG GF
STV YT PR ?



Question 10

What is the objective function of the dual minimization problem of the following maximization problem : Maximize z = 2x - 6y, subject to x - 3y < 6, 2x - 4y 2 8,
x-3y=-6,andx,y=07?
RS 5% ST (79 SN TG [RENF WS F: 50z = 2x - By, *1S ANATGF x -3y <6, 2x-4y 28, x -3y -6, G X, y2 0 ?

Question 11

The total number of allocations in a basic feasible solution of transportation problem of m x n size is equal to
GG mx n TN AR ST G516 (e FIAFF ST (VB allocations I HLLI =

Question 12

An optimal solution of an assignment problem can be obtained only if
T AT T 5T optimal solution STSTT AT @y TR

Question 13

The optimal solution for a Travelling Salesman Problem and the corresponding Assignment problem will be
TG JITRr fRrger STNTT & A<fRHT ST STNHR optimal solution

Question 14

If there exists a saddle point for a given two person zero sum game problem, it implies that the players are using
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Question 15

When there is dominance in a game then
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Question 16

What is the form of an objective
function f for n variables
X1, X5, cae cen v Xy INLP.P.?
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Question 17

Food X contains 6 units of vitamin A per gram and 7 units of vitamin B per gram and cost Rs. 1.50 per gram. Food Y contains 8 units of vitamin A per gram
and 12 units of vitamin B per gram and cost Rs. 2.00 per gram. The daily minimum requirement of vitamin A and B are 100 and 120 units respectively. Let
gms of food X and grams of food Y be bought to get the minimum requirement of vitamins so that the cost be minimum. Formulate the problem as an L.P.P.
YRIA X 9 6 45 SOOI A AfS AV 933 7 45 fOBITN B &S SN 43¢ AN SN &S 1,50 BT | SRTH ARIF Y (O 8 53 (SOl A A6 SN 433 12
5% fOBITN B &S ST 38 AN ST &S 2.00 BT AT fOBIN A 8 fSBIRM B 4 POV BIFRA IAGHCN 100 8 120 JFF| AN X URIF A7
AT Y YR (F1 74 [0 ARG Ao N fSBITTAA BIRAT (NG I G35 6 G I X | ST (AR (2 anfile STshy Rt Sorgrom
I (PANRE ?

Question 18



What is the distance between the
two points A = (1,1,1,1) and
B=(1,4,513)inE,?

E,-a w&atie g a9 A =
(1,1,1,1) 8 B = (1,4,5,13)
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Question 19

What is the type of the feasible
region of the following
inequalities?-

X +x, =4

x; <10

X1, X, =0
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X1 +x,=24

x; <10

X, X =0

Question 20

For what value (values) of a, the
set {(1,1,1),(1,2,3),(2, 3,a)}
forms a basis set in E® ?

a dd ¥« $a =2,
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Question 21

Find the number of basic solution
of the following system of
equations :-
2x; + 3x;, + 6x; = 16
X1 +2x +3x3=9
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2x; + 3x; +6x3; = 16

X, +2x%, +3x3=9

Question 22

How many artificial variables are
to be added for solving the
following L.P.P. by simplex
method?
Maximize Z = 2x; + 3x;
Subjecttox; +x, <8

X;+2x,=5

2%, +x, =3

X, X, =0
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B9 Z = 2x; + 35
TGS x+x, <8
Xy +2x;=5
2xi +x, =3
Xy, X, =0

Question 23

Find the dual of the following
primal problem :-
Max Z = 3x; + 2x,
Subjecttox; —x, <0
2x; +x, <10
X1, X2 =0
e q25 PevE (3o
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B9 Z = 3x; + 2x,
THACIEF X, —x, <0
2x; +x, <10
Xy, ;=0

Question 24

Find the maximum number of basic variables in a balanced transportation problem involving 2 origins and 3 destinations.
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Question 25

Find the optimal assignment and the corresponding optimal (minimum) cost for the following assignment problem.
(| I
A 6 6 5
B 7 5 6
C 6 5 7
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A 6 6
B 7 5
C

Question 26

Find a degenerate basic Feasible
solution of the system of
equations :-
Xy +X+X%3 =5
2x; + 3x, —x3 = 15
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X1 +x +x3=5

2x; + 3x, —x3; =15

Question 27

Find the extreme points of the following
set s :-

S

={(x,%,) /3%, +4x, <12; x,x, =0}
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=1{(x,x,) /3%, + 4x, < 12; x;,%x, = 0}

Question 28

Find the saddle point of the
following game.
Bi1 B Bs B
Ar 4 6 -2 1
A; 3 3 4 2
A; 4 5 5 1

dwea =ofea SCIrETETE
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Bi B, Bs Bs
Ar 4 6 -2 1
Az 3 3 4 2
Az 4 5 5 1

Question 29

Solve the following travelling
salesman problem.

A B = D E
A o 8 12 6 9
B 4 o 10 8 4
C 7 10 o 6 9
D 11 7 8 o 4
D 5 9 6 9 0

ST S f$ =@ ?

A B C D E
A o 8 12 6 9
B 4 o 10 8 4
C 7 10 o 6 9
D 11 7 8 o 4
D 5 9 6 9 o

Question 30



What is the value of the
following 2x2 game ?

Bi B
AL 4 1
A; -2 3

TET 22 FOIMoE FGE AT
T TG ?
B. B
A 4 1
A 2 3



